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District heating system ( XIV)
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K0~K1 Kl1~Al K4~A2 K3~A3 K2~K4
Al Al
1 o Cilxa. a1/ Ui, a2 CeZl/ ks, a3 Cr2l/ 1 e
K3 K2
1 0.68 3.06 4.07 13.6
K1~K7 K5~A5 K6~A6 KO0~ AS8 K12~A9
Al A7 A7 Al A8
Ce2l/ 2 ol s, s i x7 Lxs w7/ Ixe. a6 2*/ 3 ko, a8 Uiz a8/ iz, a9
K1 K1 KS KO KO
2.09 5.36 2.61 3.53 5.29
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NW 400 350 300 150 150 250 200 150
1 K5~A5 | K6~A6 | KO~A12 | Ki2~A8 | K12~A9 | KO~A8 | K7~A16 | K8~K10
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® 7.14 sHmyel mRa

£+ 234 m L, w dp
£a Er &,

(mm) (t/h) (m) (m/s) | (MPa)
K0 ~K1 400 944 4 4 5.0 280 2.13 0.105
K1l ~K2 400 682 6 4 2.3 260 1.54 0.0743
K2 ~K3 350 514 11 4 3.5 340 1.49 0.1301
K3 ~K4 350 439 23 4 7.5 630 1.27 0.1952
K4 ~Al 300 327 10 4 3.5 270 1.27 0.101
K4 ~A2 150 112 3 4 1.5 50 1.93 0.128
K3 ~A3 150 75 7 4 1.5 80 1.29 0.137
K2 ~A4 150 168 3 4 1.0 50 2.88 0.2830
K1 ~K5 250 262 7 4 2.0 160 1.46 0.1095
K5 ~K6 200 168 5 4 0.5 90 1.49 0.100
K6 ~A7 150 56 7 4 0.7 70 0.964 0.0759
K6 ~AS6 150 112 6 4 1.5 70 1.93 0.248
K5 ~A5 150 94 5 4 1.0 60 1.61 0.1505
K0 ~K12 250 308 9 4 2.0 180 1.72 0.1763
K12~AS8 150 140 4 4 0.5 50 2.41 0.2880
K12~A9 150 168 3 4 0.8 50 2.88 0.281
K0 ~K7 350 823 2 4 2.5 160 2.39 0.0806
K7 ~Alé 150 140 1 4 2.0 40 241 0.074
K7 ~K8 350 683 2 4 7.5 250 1.98 0.064
K8 ~K10 300 458 3 4 1.5 130 1.79 0.071
K10~K11 250 234 9 4 0.5 160 1.31 0.1011
K11~A1l4 200 140 7 4 0.8 110 1.24 0.1020
K11~A13 150 94 4 4 2.5 60 1.61 0.1304
K10~A12 200 224 5 4 2.0 100 1.98 0.1786
K8 ~K9 200 225 6 4 1.0 100 1.99 0.220
K9 ~A10 150 131 4 4 0.5 50 2.25 0.251
K9 ~All 150 94 3 4 2.5 60 1.61 0.0910
KO ~Al5 200 262 15 4 2.5 200 2.32 0.736
K0 ~K1 400 944 4 4 0.6 180 2.00 0.0899
K1 ~K2 400 682 6 4 0.8 230 1.45 0.0690
K2 ~K3 350 514 11 4 0.8 290 1.39 0.1187
K3 ~K4 350 439 23 4 0.4 500 1.19 0.1783
K4 ~Al 300 327 10 4 0.8 220 1.20 0.0940
K4 ~A2 150 112 3 4 0.7 50 1.81 0.1200
K3 ~A3 150 75 7 4 0 70 1.21 0.1191
K2 ~A4 150 168 3 4 0.8 50 2.72 0.2720
K1 ~Kb5 250 262 7 4 0.8 140 1.37 0.1010
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2 37 m b, w 4p
&a o &
(mm) (t/h) (m) (m/s) | (MPa)
K5 ~K6 200 168 5 4 1.4 100 1.40 0.0956
K6 ~K7 150 56 7 4 0.8 70 0.934 | 0.0770
K6 ~A6 150 112 6 4 1.4 70 1.81 0.232
K5 ~A5 150 94 5 4 0.8 60 1.52 0.143
K0 ~K12 250 308 9 4 0.8 170 1.62 0.166
K12~A8 150 140 4 4 0.8 50 2.26 0.271
K12~A9 150 168 3 4 2.4 60 2.71 0.275
K0 ~K7 350 823 2 4 0.8 120 2.24 0.070
K7 ~Al6 150 140 1 4 0 30 2.26 0.0543
K7 ~K8 350 683 2 4 0.4 120 1.86 0.050
K8 ~K10 300 458 3 4 1.3 120 1.68 0.0655
K10~K11 250 234 9 4 3.0 190 1.23 0.0974
Kll1~Al4 200 140 7 4 1.8 120 1.16 0.0960
K11~A13 150 94 4 4 1.0 50 1.52 0.1224
K10~A12 200 224 5 4 1.0 90 1.86 0.166
K8 ~K9 200 225 6 4 0.8 100 1.87 0.208
K9 ~Al10 150 13 4 4 1.8 60 2.12 0.241
K9 ~All 150 94 3 4 1.2 50 1.52 0.0845
KO ~Al5 200 262 15 4 0.7 180 2.18 0.687
H 7.15 Hoiet UsE
i KO0 Ki K2 K3 K4 K5 K6
%4 2498 p(MPa) | 1.773 | 1.668 | 1.594 | 1.464 | 1.268 | 1.469 | 1.261
814 o291 p(MPa) | 0.25 | 0.440 | 0590 | 0.628 | 0.806 | 0.445 | 0.430
i K7 K8 K9 K10 K11 K12 Al
44 2493 p(MPa) | 1.692 | 1.628 | 1.264 | 1.557 | 1.456 | 1.381 | 1.167
g4 24942 pe(MPa) | 0.32 | 0.37 | 0.423 | 0.436 | 0.533 | 0.352 | 0.899
i A2 A3 A4 A5 A6 A7 A8
44 2498 p(MPa) | 1.140 | 1.327 | 1.311 | 1.246 | 0.743 | 1.131 | 0.99
4 257918 p(MPa) | 0.926 | 0.747 | 0.781 | 0.066 | 0.512 | 0.375 | 0.623
i A9 Alo | ANl Al2 | A13 | Al4 | Al5 Al6
%24 2291 p(MPa) | 1.1564 | 0.797 | 1.119 | 1.378 | 1.326 | 1.354 | 1.037 | 1.628
B 25918 pe(MPa) | 0519 | 0.434 | 0.461 | 0.601 | 0.655 | 0.629 | 0.937 | 0.374
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H 7.16 HHE{HI2| Balancegt

P h, heg—hg P 128
(MPa) [(kJ/kg)|(kJ/kg) | (MW) |(m3/kg)

0.5 2,818 692 38.5 0.41
0.6 2,852 658 36.4 0.35
0.7 2,880 630 35.0 0.31
0.8 2,904 606 33.7 0.28
0.9 2,922 588 32.7 0.26
1.0 2,940 570 31.7 0.237
1.1 2,960 550 30.6 0.215
1.2 2,976 534 29.6 0.200
1.3 2,996 514 28.6 0.188
1.4 3,008 502 27.9 0.179
1.5 3,020 490 27.2 0.167
1.6 3,032 478 26.6 0.160
1.7 3,046 464 25.8 0.152
1.8 3,056 454 25.2 0.145
1.9 3,067 443 24.6 0.139

2.0 3,078 432 24.0 0.133
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